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Business Mathematics
(caraaiyes Tore)
Bachelor of Business Administration
(BBA-10/12/16/17)

First Semester, Examination, 2017

Time : 3 Hours Max. Marks : 80

Note : This paper is of eighty (80) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.
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Section-A / Gvls—d

(Long Answer Type Questions) / (€T SR 7%)

Note : Section ‘A’ contains four (04) long answer type
questions of nineteen (19) marks each. Learners are
required to answer two (02) questions only.
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1. If @+X)"=Cy+C;+Cyx2+....CX", prove that :

2n-1
C?+2C3+3C5+......4+4nC2 = |—2

n-1
I @L+X)" =Cy+C,+Cpx2 +....CY", a1 fiag ifog
f
2 902,202 o |en-t
Cf+2C5+3C5 +......+nCf = 5
n-1
1 2 1 2
2. If A= 3 and B= 0 , then find
4 5 6 345
A+B=B+A.
1 2 3 012
e A= IR B= , o
4 5 6 3 45
A+B=B+A &I 31T SIfT |
3. Solve the following equations :
(1) X+2y+3z=14
X+y+2z=11
2x+3y+z=11
(i) SX+3y+7z=4

3X+26y+22=9
7x+2y+10z2=5
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[feTRaT TGl Bl gl BINT
(i) X+2y+3z=14
X+y+2z=11
2x+3y+z=11
(i) SX+3y+72=4

3X+26y+2z=9
7X+2y+102:5

4. The coefficient of 5th, 6th and 7th terms in the
expansion of 1+ x" are in A. P. Find n.

Lix" & RR ¥ o, 58 U4 Al el @ e

R 2oft # g 79 n @1 4 9d S|
Section-B / Yvs—Yg

(Short Answer Type Questions) / (FF{J,' SEbiE LEg))

Note : Section ‘B’ contains eight (08) short answer type
questions of eight (08) marks each. Learners are
required to answer four (04) questions only.

dic . @ue @ # e (08) @Y STRIE W A T2
TAe WH @ forv ams (08) @ fwiRa ¥l
RrenRial o 7 W dad IR (04) T B IR <
gl

1. If a=bC, b=c? and c=aP, show that abc = 1.

Ife a=ht, b=c?, 3R c=aP, Ty & abc=1]|
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2. Find the sum of the first 14 terms of a G. P. :
3,9, 27,81, 243,729, ............

14 Y&l & ART BT UIRR WHA S DY -
3,9,27, 81,243,729, ............

3. Find Y if y=Xx¢,
dx

Ife y=x¢". ?,ﬁ% BT | FIG DI |
4. Show that :
B2y B2 P-1843
I T
BavZ P B2 721843

5. Expand (X+Y)°.
(X+Y)® @ faR BT |

2 -1 7 0 .
6. IfA:(O 3) and B:(_2 _3j,thenflndAB.
2 -1 7 0

A: B:
e (0 3] SIN (_2 _3],?ﬁAB§na
@ §IQI
dy

7. If y=x2sinx, find —Z.
y dx

Ife y=x2sinx, I BV %I

B-59

http://www.uouonline.com


http://www.uouonline.com
http://www.uouonline.com

http://www.uouonline.com
[5] BBA-102

8. If y=x2cosecx, find %

X
Iy =x2cosec X, Fd DI % |

Section-C / Yvs—TT

(Objective Type Questions) / (A& T)

Note : Section ‘C’ contains ten (10) objective type
questions of one (01) mark each. All the questions
of this Section are compulsory.

dlc ;. @ve T H 9 (10) TGS W @ W 2 | TRE
T @ forv ve (01) o FeiRa B 39 @ @
o g e €|

Write True/False against the following :

fy=foRad @ e 9 /31 forfRau

1. The universal set is represented with ‘w’. (True/False)

ATl W p Bl USRI R &1 (e /3RI)
2. a?+b?, ab+bc and b2 +c? arein G. P. (True/False)
a2 +b?, ab+bc 3R b2 +c2 ARG 3HA (GP)
¥ g 2 SRR

3. If % g(x) =F(x), then F(x)dx=g(x)+C.
(True/False)
o % g0 =F(x), A Fdx=g(x)+C 8|
GRVERS)
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4. A matrix whose all elements are zero is called null

matrix. (True/False)
U6 AR e ¥ d@ I9 2§, LI R
HEAT 2 | (A / 3rc)
5. Cost = Variable Cost + Fixed Cost + Profit.
(True/False)
AN = IR aTd + ReR oFTd + o |
GRVERRY))
1 3 1
6. If A={2 4 -1|, then 1, 4, 6 are diagonal
3 5 6
elements of A. (True/False)
1 3 1
I A=[2 4 1| 8 @ A & a9 & 3@ua
3 5 6
1,4,6 %] (A / oT)

7. 1If ‘A’ is a universal matrix, then |A| =0. (True/False)

AT A’ TP AGEHAV AGE 8, 79 |A|=0 BRI & |

(F /<)

dy
8. If X—y=m, then &:1. (True/False)
I x—y=mp, @l %:1 BT | (T / 1)
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9. AxBuUC=AxBUAxC. (True/False)
AxBUC=AxBUAXC | (T / 3a)
3 d2y 2
10. If y=x>+tan X, then P =25ec” Xtan X.
(True/False)

I y=x34+tanx g, Fﬁ y —2sec2 xtan x BN

(g / ereca)
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